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Question Number : 1 Question Id : 381906907 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

—

Options :

149
1.« 46

147
) % 48

Question Number : 2 Question Id : 381906908 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If (162*T3=(64y**3, then 4¥*+> =

2x+3

= 42EFS e =R S

Options :

Question Number : 3 Question Id : 381906909 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The number of positive integers less than 50 and relatively prime to 50 1s

¥, % -
oo oae iy & s = &
Evisiks A M L50uslsell ef <50

Options:

1 % 40



Question Number : 4 Question Id : 381906910 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[f A’s salary 15 50% more than that of B, then how much percent 1s B’s salary
less than that of A?

i

= l 4 o T .-:' - &
Ol & o Aol JB#,?:!‘?:E:S[)L)"E'LB:‘I..‘- JA/

Options:

Question Number : 5 Question Id : 381906911 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Let 1T denote the set of all natural numbers.
Alsolet SS{m e N|1 <m < 100}

and A= {m € S|m is multiple of 2}

B ={m € S|m is multiple of 3}.

Then the number of elements m the set AU B 1s

- e - ab - - =
&Q.L;elgr__t*f slbs e sl (b |"L;-+.'1Tf-‘§i-;,'l-
A= #S={m € N|1 <m <100}

B= {m ES

!’::/_.'f-}';: 2‘}'?1}{

{m ES

&=

-,.:"' ‘IMV;.:.-I- I.,_,r-o AU B Iu-"'

K _;,:};’ 3:m}

Options :

. 83

> % 16

Question Number : 6 Question Id : 381906912 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The sum of digits in the number 107 -84 is
Eve o KUr 22 107 -84 1

Options :

1.% 278



Question Number : 7 Question Id : 381906913 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

1 L. @& 3 5.

———+——— 18
a o 2 4

# Jiocs EI: | | a 3

Al e B e

A s o 3 4

. f‘l'z
The square root of — +

Options :
g 1 .1
1.¢2 d 2
a 1
—d—]

2. ® 2 a
i .1
i?-l-,}—‘l-;
3.% 4

1
d+—%2

2



Question Number : 8 Question Id : 381906914 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

(ﬂz_b}}l‘k{b:_f:}aﬂ‘(f:—ﬁ':};
(a=bY +(b—c) +(c—a)’

Options :

1 % (@a=b)(b—c)(c—a)
2 (a+b)(b+c)(c+a)

L x (@+0) B+ (@ +a)

4w @+B) B+ (C +a)

Question Number : 9 Question Id : 381906915 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If & and g are roots of the equation 2x*-5x+2=0, then &'+ f* =
o'+ =unE L 23 -5x42=0eb B sia S

Options :

126

1. % 25



257
« 16

217
4. % 36

Question Number : 10 Question Id : 381906916 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ina AABC, BC=AB and £B=80°, then ZA =
A =~/ZB=80°,: BC=AB < AABC

Options:

1. % 1007
2 % 35°
3. % 60°

3

4. 30

Question Number : 11 Question Id : 381906917 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The area of the figure formed by joining the midpoints of the sides of

rectangle of sides 20 cm and 18 cm is (in cm’)

2 e Ly » | be* . i P e £ { b L
(ufu".-’" v/ lﬁfz{}f:.‘.duf P o P B ¥ Jb—'uh !;u'_?’u;uf AR



Options :

1. % 90

Question Number : 12 Question Id : 381906918 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the figure, 1f O is the centre of the circle and £A0C =150°, then ZADC=

A o f

ZADC=C: ZAOC =150°, sise pEe 2150/ 15 F 56

B

Options :

1. % 15°

5« 105°



Question Number : 13 Question Id : 381906919 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the volumes of two cubes are 1n ratio 64:1235. then the ratio
of their surface areas 1s

= =

. ow e L
UrerrOudl Lurnbd: 125U L™ e/ |
Options :

| v 16:25

Question Number : 14 Question Id : 381906920 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If A(2,k), B(4,6)andC (8.,8) are collinear, thenk =

A8k Ut AC (8,8).B (4,6)(2, k)

Options :



o
)
L

Question Number : 15 Question Id : 381906921 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The slope of the line which is perpendicular to the line joining the points
A(34)and B (5.9)1s

Edi.v:ull;-hiéfbij:_rr;;&:;;'__l!;__LL_.: B (S.F)]J!IA (’%—”J:LT
Options :

2
1.% 5

N
A
|

w
#
ra |

b | Ln



Question Number : 16 Question Id : 381906922 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
549+13+...... +97 =

Options :
L % 1226
, « 1214
L v 1224
4 % 1210

Question Number : 17 Question Id : 381906923 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

secx+l—tanx

tanx—secx+1

Options :
| +cosx
1.« Ssinx
| +tanx
5 % COSX
| +tanx

3 % | —tanx



| —tan x

4. % | +tanx

Question Number : 18 Question Id : 381906924 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If cosx+sinx=4/2 cosx. then cosx—sinx =
COSX—SinX —~cosx+sinx=./2 cosx .|

Options :

1 % \/Etanx
5 & \Esinx

3 % J2cosec x

4 % J2secx

Question Number : 19 Question Id : 381906925 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The arithmetic mean ot the cubes of first 11 natural numbers 1s

11k

! | &1 | Ef" - T o
-Egwvig Vi Ll TOY - 2
~

|
=

Options:



o % 376

4 % 360

Question Number : 20 Question Id : 381906926 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[f two dice are thrown simultaneously, then the probability of getting a sum
of at least 9 1s

-~ -

r A | . . &
I o Flald T I o A S ik b & i
b!'V Vv Vi !.94-,."- I e ey L’?-I."..T L"n..;l. I¥ |,_.-If pirs |
o, - " * a 4

Options :

1
1. % 4

n

o |



Question Number : 21 Question Id : 381906927 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The focal length of the plano-convex lens 1s when 1ts radius of
curvature of the surface 1s R and n 1s the refractive index of the lens.

= b~ -
eI [T T N T 0T pn e ko y P
Pl | |2 | D s 1 R,»‘L'“’--‘ﬂ"u.: LRGP ulf“bl..} e Vi

Options :
1. =R
, x f=R/2

. v F=R/n=1)

4. % f=(n-1)/R

Question Number : 22 Question Id : 381906928 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following four elements 1s more electronegative?
(*’- Jﬁu;;-':‘.“:i'}é sobie e Un AV l_-j'-:- 3
Options:
Sodium

£i
1. % B



Magnesium

2
3, % '
Calcium
s
4, % '

Question Number : 23 Question Id : 381906929 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Kilogram-meter per second squared 1s equivalent to

4

-~ o
Cov  Cal s, P8 atuder ] h?ayl
V. Cragrpl &
Options:

1 Joule

] Watt

2. _".J!l

| Pascal

-~

30 il

| Newton



Question Number : 24 Question Id : 381906930 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Newton used the word *mass in motion’ to represent

e -'#.:__ prm [~ e [

= -
v | ] . ) s .--u-_,lr
‘hl‘: S — g

o | ! e
Lt HUS JU/PRY P 4

Options :

Linear momentum

Inertia of motion

5 % Oy Ars
Velocity
3. % 1y

Inertia at rest

Vs

'

Question Number : 25 Question Id : 381906931 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Mirage 1s a best example for the phenomenon of

< ._,l vef Al h e d o™ S
Options :
Reflection

s
1. % o e



Diffraction

2. % ,-L.Jj

Total internal reflection

r'-"” ":.,r 'h"‘r
3 o bt b-lll'l-: IJIU

Question Number : 26 Question Id : 381906932 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The reaction of the formation hydrogen chloride from hydrogen and
chloride represents the following type of chemical reaction

& i i

i " - f"- i e t' 8 s ll. 2 - { (! it - b g - I
-""_-Lh.:’ JL'_‘Flg_,-PLF"L;E-".:V# ur:u'_.,",b_: b~ ‘_'{r): !.J.J_-_'fl.-'_ |!{-__.L-U:\-- —_— |||="°f| ."__-J_-_':’Uf' ;!'1_‘,-'3: .'.-'.-t:L
Options:
Decomposition

R T

1. i@ L.r !‘f.!’.ﬁly-';_j:;f v-k|

Displacement

=

2. % n..?ﬁ

Combination

3. v o



Double-displacement
Lj n/.' # H rd L’.:|

1 | i "
x U 6 osshndedZle 2z

Question Number : 27 Question Id : 381906933 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not an electrolyte?

Options :

Sulphuric acid

Tamarind juice

o

'=I...r

3. % i

Detergent solution

2 s gt
ulf'l' ey

Question Number : 28 Question Id : 381906934 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What happens when a glass rod is rubbed with a piece of silk cloth?

L Ly

.= 5 F b |'-f "" y
W e e [ h.-l
- T A%

H

o T ol e L1 -
i X | a5
Eul LI L -

Options :
Rod and the cloth acquire positive charge

-l -

7 L
1 % L"VH . -,.,-P..'h? -I'llr'--‘-':* I___.-".-.I;o .-I'!I-i_,.-'l_l'

Rod becomes positively charged while the cloth has
a negative charge

P o S P

- i &
2 *\‘;.-""'ﬁ W 'h:"'ﬂ'-'lrv I__"; .-wt’-r o — I"?"'Ilf:'”:*vl

o

Rod and the cloth both acquire negative charge

oy s ot Y T 5
3. % sV AU USnlg Qe

Rod becomes negatively charged while the cloth has
a positive charge

4, ®

Question Number : 29 Question Id : 381906935 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

a - particles are made up of the following primary particle

. 1%

- 4
ey _ * - i . *
gt [ -‘L:I.-&'T.I -i...-u‘_.-‘—-'l-'-‘—ﬂ

Options :
2 Protons and 2 Neutrons

1.4 ;{'I,;__*: 2;!';_}":!;;2



2 Protons and 2 Electrons

2 s 2

2 Neutrons and 2 Positrons

i alps | # ‘}
3 % u',.f.;a.z.r.'._,,';.!‘_’_ﬂ_

2 Protons and 2 Neutrinos

al et e )

.,_,"E;;,tfz S DAL L

Question Number : 30 Question Id : 381906936 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Element does not belong to the
VIIA group (Periodic table)

;:;JV:" il AU St/ VIIA (£ IS PIT))
Options :
Chlorine
1% oL

...'*.

2. % =2
lodine
3 % VElg



Radon

o
A

Question Number : 31 Question Id : 381906937 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Photosynthesis process can be repreaented as the following:
P b et $tsdf Lo d7 80

Options :

6C0, +12H,0 s CoH,,0, +6H,0460,

Light

6CO,+12H, DWC H,,0,+6H,0+60,
2.¥ .

6CO,+6H,0,— el ¢ H O, +H,0+60,

Light

3. %

6CO,+6H, Dv : # Choroplyl »C . H,, 0. +H,0+60,

Light

4. % G

Question Number : 32 Question Id : 381906938 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The digestive juice without enzyme is

. ~
G’__,’:.'ta_-»;_,"f'L?‘;_, A5 Tps



Options :
Gastric juice

]
1. % g

Pancreatic juice

2 wpls)

Bile juice

3. ¥ Vs
Sahva
4. % b

Question Number : 33 Question Id : 381906939 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What is the college order of the Waste Management hierarchy?

- -~ :
P I N Rl S| Caull R DA

- .
— e _;-._._/—Iz_,-r"_'__,\_,_:’-- - — A2

v

1. Reduce
L'.f:,-.. 3
1. Recycle
S
1. Recover
e/ s
1v. Reuse

S [
v VT 0

Options :



o i v i, dii
5 s i, i, i, iv
5w i, i, iV, i

4 % il i, did, iV

Question Number : 34 Question Id : 381906940 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following crop that grow in the rainy season

T e, | = 5

{ = ), = £ - - &
e ;-.- L1 L:,h . I e "_L
—_— S I_;-i_—+-...t-- il it~

Options :

Black gram

1.v £
Maize
ke
2. % v
Wheat
3 % U=
Coriander

o
a
il w
Sem



Question Number : 35 Question Id : 381906941 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fat soluble vitamins are

.-u-'rl * F'?vkll"-

Cuilbm W LAl sl

Options:

Vitamin A, D. E and K
K‘I!IE{D{‘S‘I}JL"!

Vitamin A, B—cump]e*{ Viiamin C
2. ® e L-" v ./B An-,- |r*

Vitamin B-complex, Vitamin C, ‘v’itmnin K
3 % Ko b5 Co/ s % 6B s

Vitamin A, D. E
4 % ED:A

Question Number : 36 Question Id : 381906942 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1. Niacin - (a) Nerves Disorders
V% - gt
in. Tocoferol - (b) pellagra
Js 244 Ixﬁz,l;-T
1. Biotin - (c) Fertility related disorders
S - Ere JF Sk
1v. Thiamin - (d) Beriberi
OA% - Salz
Options :

1 % 1-C, 1i-d, 111-a, 1v-b
5> % 1-b, 11-a, 11i-d, 1v-c
3. % 1-b, 11-a, 111-c, 1v-d

4 v i-b, ii-c, iii-a, iv-d

Question Number : 37 Question Id : 381906943 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Complete and irreversible kidney failure 1s called

(i bow b L+ i
L U ) A i.';;;:fl"._, Bsrs

Options:

Excretion renal Disease

” e
1 % §, ;L:-._f.lz o Jsar



End stage Reverse disease

"
# = e -
U U7 a0 &

.

End stage renal disease

. =
2K 15K ¢ 57
3 AR AR AU

Excretion stage renal disease

- =
Falla

4. u sz.dll_xrllh: allz 5_,'.!-‘..-’#

Question Number : 38 Question Id : 381906944 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Government established the following to supply medicine to HIV patients

-~ & ey # O
. Yl 3 g 1~ " [ 1
4 UGV ERTE IV PR A :\_,'."‘..fHIV

Options :

. v ART
, « AHI

5« AHT

, « ARH

Question Number : 39 Question Id : 381906945 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Kawal sanctuary 1s located 1n the following District:
G ek S B
ol

- i
WAL U =08 - R

Options :

Jayashankar Bhupalapalli

k. —
1 % 'v.-}..ulk-"r'.’y“l";:

e

Karimnagar

Warangal Rural

=

3. @ UJ!JV -
Adilabad
4 * I.,J_*L,,

Question Number : 40 Question Id : 381906946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Orize sativa 1s cultivated in

- . i

=26 2 sl
Options :
Asia

v



Africa

= I-
201

America

£/

Japan

Question Number : 41 Question Id : 381906947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
During which two months, the sun shines in the Tundra region?

P
. '[Pz * 5 bE o mah
. i';-. L-L’f,u I¥ e e .I_.L'la'.-l‘-" e e 220

Options :

October-November

# By
2917

December —January

- 1
& -y

2. % U=

February —March

- &
GALnr

3.¢

August-September

L 7
el T



Question Number : 42 Question Id : 381906948 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the following statements;
Zaf gl ) oo
A. The term “Hydrosphere™ comes from the Greek word ‘hydro’
meaning water.
L,Luj L _Jm ‘hydro’ s8¢y “Hydrosphere ™ 1</
B. Hydrosphere consists of various gases such as oxygen, hydrogen,
water vapour, efc.
] fr'...:bl.ﬁ‘.:_,..pl,f J.-'\-’" L;LL’LH_,' --J" "" .'_'j_-."fL:
Which of the above state ments is/are correct?
?h,:f.f_- b L 5o
Options:

A only
1w ASS
B only

2.v B2

Both A and B
3. ® BJ!'A o

Neither A nor B
4, % B:aslAz



Question Number : 43 Question Id : 381906949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statement:
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Options :
A Canyon 1s a form of erosion

< ¥ LiCanyon

1.%
It 1s narrow at the top and wider at the bottom.
2. ‘.’-t":""f;v:':?ﬁ"ﬁj;-""1E~f"':"-3{~":

[t has steep side slopes.
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The Grand Canyon on the river Colorado is the biggest in the world.
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Question Number : 44 Question Id : 381906950 Question Type : MCQ Option Shuffling : No
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:N.A Think Time : N.A Minimum Instruction Time : 0
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Match the following

& Hin
1. Troposphere a) Uppermost layer of the atmosphere
-~ 2 i ._;":;:I.-.:,.,.-HJHL-'&;
1. Exosphere b) Layer free from clouds
& K & :«:;.'.'-JJ AU o
1. Stratosphere c) Contains electrically charged particles
a:" ;Ix;fl V}Jf:;';?:;aglg::{urfl
iv. Thermosphere d) Lower most layer of atmosphere
Ve s ifu.f-”-f--" Jus

Choose the correct answer:

(ot TV 2

S RAZC
Options :
1.« 1-a n-c - m-b 1v-d
5 % 1-b n-d  1i-c  1v-a
3 % 1-d i-a  1i-b  1v-c
4w i-d ii-b  iii-c iv-a

Question Number : 45 Question Id : 381906951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
[dentify the incorrect pair.

Sosp(ink

Options :

1. %



Chinook - Himalayas

Pampero

;.
8
SuuF

Mistral
2

e
4, &

Question Number :

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[n which month the ‘Road Safety Week’ is observed every year in India?

Options :

January

= %y
L

1.4 U

I~
-~ b
-

- Andes

-Pampas

I
D'

-Alps

at

46 Question Id : 381906952 Question Type : MCQ Option Shuffling : No
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August

3, % —

November

4. ® /:”';

Question Number : 47 Question Id : 381906953 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which Committee was appointed by the Central Government for seeking
suggestions to prevent sexual assault and abuse?

’ | u.-" - - __,;'"-F ~ F
O LS Eesadea ) v{!l;’;c.“lw;..vlli'flx!lv'zj"u' Rl

Options :

Arun Goel Committee

o

;"’f F ol
1. ® il W S F

P. K. Mohanty Commuittee

r e o
;,;J‘":._.;__,j

Ramesh Chand Committee

o .
3 % S Ut

Justice J. S. Verma Committee
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~ - it

i L;!“"'-'.__-,,- 7
-
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Question Number : 48 Question Id : 381906954 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not essential in a Democracy?
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Options :

Active participation of citizens

ot |5 0 g 2
1 % = LU

Free and fair elections

W T TN T
2. B el 2l

Respect for law

i I
-
. e Tiu
| = (]

3 % AL ) r L

Exclusiveness of common people

- o =
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Question Number : 49 Question Id : 381906955 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
[dentity the incorrect pair.
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Options :

Myanmar - Aung San Suu Kyi

* -
C| “jalll # i
1. % 'y gL



Egypt - Muammar Gaddaf

5 % A GLe &~
Zimbabwe - Robert Mugabe
- sl gl
Mexico -Benito Juarez
p:”.,.;' il "
4. % o - .o-’“ P

Question Number : 50 Question Id : 381906956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Arrange the following political parties in the chronological order
from the date of their inception.

Y - ;'-; b = i | = - r B X | -
= | o ¥l A - L . !
e L e g LA S R S P

A. Telugu Desam Party
Oh=2s¥

B. Trinamool Congress

£ | in
-
U‘“.—'):"u.—"r.-’"

C. Rashtriya Janata Dal
,_,,lz::-:f-’f::}fli

D. Shiromani Akali Dal
S A

E. Dravida Munnetra Kazagam

-
=

| .l B e 1
LB Al

Options :



. %« E.C,A,D,B
, » D,A,E,B,C

.+D.EACB

.% A,C,B,E,D

Question Number : 51 Question Id : 381906957 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements 1s/ are correct ?
sl c;.i?":er.tﬁf b Ll
A. Banking activity done through electronic means of communication is
known as Internet banking.

= - -
'||| : *
r.’_.,v'y_,vk__. ;""c’_-.,_,'L'.’ 23 ,;__V «__,L| ,.h| Us 7 ,,Jvu.v

B. Internet Banking helps to repay loans using mobile phones.

-‘.
-~ [ -‘ n.

b Ay Pl / Jl,m Y% Lo p

C. Internet banking reduces ]JdpEI work.

D. Internet banking takes additional time 1n transferring funds.
i';-ff,l “‘.Arla'u"-_-.r ./JJI '-'.-‘r"-‘vl"—" -"'l
Options :

1.«+vAand B

> % Band C



3 A,Band C

4 % B,C,and D

Question Number : 52 Question Id : 381906958 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the statements about organic farming 1s/are Not correct?

-";,';.. " (i LT = & /"_.". ra i&
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Options :

[t 1s based on crop rotation.

R

1_ i@ ;—Il_,- ..-;:;__—a‘_-‘u ol

[t uses biological pest control methods.

i | bt ) Ec b e
< dIUe 60 P A See

[t minimizes the usage of synthetic fertilizers.

rifr = - e
f i
t";-l:'..-"' f.’vlli-trlﬁ"__-:lwz'n—#’* -
L -

Yield is very high in organic farming.
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Question Number : 53 Question Id : 381906959 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

What i1s the full form of MGNREGA?
?.f_::’.ffj ;_;'.J#MGNREGA

Options :

1. %

2. ¢

Mahatma Gandhi National Rural Employment Guarantee Act.

Mahatma Gandhi National Rural Employment Generation Act.

3. » Mahatma Gandhi National Rural Education Guarantee Aid.

4 » Mahatma Gandhi National Rural Engineers Governing Act.

Question Number : 54 Question Id : 381906960 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
[dentify the incorrect pair.
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Options :
1 » CPL - Consumer Price Index
> « FP1 - Fuel Price Index

3 = WPl - Wholesale Price Index

4 » PIN - Price Index Number



Question Number : 55 Question Id : 381906961 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Arrange the following dams in the chronological order according to the date
of their completion,

ﬂ-'w. .::l . _,.1
s .4 o

Z2 a0 a,.-yﬁla.au-Lfr:._.._,-lo'-ﬂ SOEIGEION
A. Bhakra -Nangal Dam
& vh{"_u:l,;-g
B. Hira Kund Dam
S
C. Nagarjuna Sagar Dam
S

D. Gandhi Sagar Dam

Options:

.« C.D.A,B
, x B,D,A,C
.« A,C,B,D

+v B,CD,A

Question Number : 56 Question Id : 381906962 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



By what name the settlements of peasants during the C hOld period were called?
Fobs bl Y U i Ltz
Options :

Brahmadeya

3. v s

Mandalam

]
4. % i

Question Number : 57 Question Id : 381906963 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Amuktamalyada” written by Sri Krishnadevaraya deals with the life
of which Tamil Bhakta pmetus’

- P & 'T

'—-ur:‘—-fl'-*\.:-‘::n:'”j""’{ b "'r"L'| -..-fLI...«'..ﬂL '-'J*‘L;' "»'
Options:
Andal

1 G 'q--"ll Y

2. &



Goda Devi

=
A B
Sxalyy
Falas

Karaikkal Ammaiyar
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‘ i
K
& e

L|,_,L|

Korravai

CE
hqlﬁr

4, %
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Question Number : 58 Question Id : 381906964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Telangana Movement innovated different modes of popular protests.
Which among the following 1s not a popular protest?

.J-*‘{ 1_ s (2] | A _,-_" ey e g .-"
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Options :

Dhoom Dham

-""4_-1:-1"13"1
|L"'|“ 3

Bonalu

2. % AW

Tudumdebba

Ly

4.+



Oggukatha

o
s |
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Question Number : 59 Question Id : 381906965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following events of the American War of Independence in
chronological order.

4 - . = = koo ‘:/IJ::' £ope e
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A) Declaration of Independence
GJILIE ST

B) Adoption of Republican Constitution

e 5’;;":\;’%5;
C) Philadelphia Congress
V94| I

D) Boston Tea Party

R |
VA"

Options :
. v A,C,D,B
, x B,C.A,D

.« CABD

.« D.C,A,B

Question Number : 60 Question Id : 381906966 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
[dentify the INCORRECT statement about Luddism:

g -y

s L'.I::J I,,:.-Il_l'_'n....‘:"": u*}ﬂ'h:-r r..-l.'

— - |
-

Options :

It fights for safeguarding the industrial machinery

iali) T g wid s
e b BSEA N
1.9 : M

[t demands minimum wages for workers

- e -

oY Fry I I B O A
ol AUty oSl kb .

-

It seeks control over women and child labour

- P-; | - .: "
# | |m B 5 z 3
b/ J b g p S 17 o

3. %

[t demands right to form trade unions

- - .
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Question Number : 61 Question Id : 381906967 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Education 1s

P
Options :

To prepare for job

* aa & | -

Drawing out the best from the child

- -
- -

L*i] =L # 'nu—",| - .-Iﬁ’f k=

VU sbs UsF ke 705

2. %

To enforce discipline

-
I

’T‘EL.'/ ]
3.%5 | .

]
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VES

For physical development
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4. %

Question Number : 62 Question Id : 381906968 Question Type : MCQ Option Shuffling : No
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:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Primary response of a teacher is to

" i
O 3000 - A

pe

Options :

Dictate

Facilitate

. oo
|| & g w oA

Crar oy
+

2. %

Indoctrinate

g L
el

Impress

-
/e

4, #

Question Number : 63 Question Id : 381906969 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

All - round development was emphasized by Sri Aurobindo at ----- levels
-~ .;‘h"- .

e oat
' ; . P i .
Vil e JIem 0 A1y S

Options :

1.% 2



Question Number : 64 Question Id : 381906970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Ultimate goal of education 1s to

f- -'/ "‘r'l
A f PES 1o

Options :
Make a man hike a robot

1. % lrlrl...r/'ly\..f---'.?';'. 'L_JII

Make a man to earn bread and butter

. -3 s r .
e b QA8 O

Make a c:muplele man
3 ¢ I L

Make him ]Jll}"ﬂii:ill]}" strong
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Question Number : 65 Question Id : 381906971 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Indian Constitution Education 1s in the -----
< JEA b L5 53 01

Options :

Central list
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1 G '-"”_.-".vh-""’ _‘_.l""I

State list

L.

G

2 % =0

Concurrent list
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3. =ALF

Local list
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Question Number : 66 Question Id : 381906972 Question Type : MCQ Option Shuffling : No
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Before commencement of teaching, the teacher should ensure

.| gy A ) . & &
o 2 i o i
o ol i) i 'S T = Ll N £
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Options:
Strict discipline should be maintained in the class
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Student should be motivated to learn
i Ll?
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;EL}"_—L E—i'___ C.—-l—:f H"'II.!' "':-
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Student should be ready to take notes

» . ol e X E M
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That the black board 1s clean
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Question Number : 67 Question Id : 381906973 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
A teacher should always be
L ols 28 AL

Options :

Democratic

1.« eI o

Autocratic
T

.y
A i
+ s

Monarchic

Stereotype
b Py T

b ‘/
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: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Continuous comprehensive evaluation is introduced with a purpose of

-

ol w o IR v '/'s; x4
':-.':' -:.-'LI'):;— - .Jl‘"t; 'H"I!- :-_;lf’v LF'H"

. o

Options :

Grading the student

# ol |
:'F_—- -’:t..-"' .!.; n—_—"b’

Promoting students to the next class

— i
2 % < v‘*uw/t—?'f'*:'

Giving awards

* LE [l
3 ® /28]

Understanding the learning abilities and difficulties of the learner
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When a teacher 1s teaching, if a student disturbs other students, then the
teacher has to
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Options :

[gnore the student

-~ S -
[ BT |
L.r’H - d.|“_.|-:"a!:'l * .4".‘I -._.__FL,I.',

Punish the student

S
Fool v |
2. % Llre e

Send the student out of the class
g r e
u:.‘..-"' /'fl_vi_'—-rur.l.{:f ';. n-.-f'll'-'?

3. %

Counsel the student

b LlEse
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The crux of the teaching learning process is

'T_':;h*'-'-'-;‘?v”# RS QU SuA
Options:
Teacher
2 ;
1. % "-*
Student
r‘“‘ -I =
2w [FF



Headmaster

Question Number : 71 Question Id : 381906977 Question Type : MCQ Option Shuffling : No
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————————————— 1s Doordarshan's Educational Television Channel?

a4

L '

e BT A0 O B 2
Options:
Gurukul
b3 E”I f;p
1. % S
GyanBharati
2. % Sy

GyanDarshan
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The situation best for maximum transfer of learning 1s
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Options :

Different tasks requiring different responses

5 . e P‘i- e | -~ ot o
® S M N et e e e

Different tasks 1‘eq11in'ng the same response
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ST s b
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Similar tasks requiring different responses
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Similar tasks requiring the same response

4. %

None Response Time

Question Number : 73 Question Id : 381906979 Question Type : MCQ Option Shuffling : No
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: None Response Time

measure the extent of students ]BEll'l]il]E In a ﬂi‘v‘E‘ll COI][E’IH dIcd.
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Options:

Achievement Tests
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Aptitude Tests

2. % b

Diagnostic Tests

3. % =

Readiness Test
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Question Number : 74 Question Id : 381906980 Question Type : MCQ Option Shuffling : No
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The strategy adopted as a teacher when a student 1s rude to her/him
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Options :

Argue with the student

- 2y
Express shock at such behavior
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Punish the student
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Remind the student of classroom rules
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[f majority of the students in a class mishehave then a teacher must identify the
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Options :

Presence of distractions 1n the class
74 ] f:_r'| s L"‘;" r "|{
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Lack of a code of conduct
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presence of too many rules

Pl gl

General indiscipline amongst students
'
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Method generally adopted to handle an aggressive student is
3P NB b b L2 e il o L
Options :

Allow him/her the opportunity to act aggressively

-
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Explain him/her about the harmful consequences of aggression

gat g - S
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2. &

Punish him/her

3. % 0

Put him/ her in a highly frustrating and embarrassing situation
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Exams are held to

S gl b o
Options:
Assess learner’s skills
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Identify learning problems
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I[dentity the ]evel of ]earning
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Rank students for selection
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The least important thing to do in te dLh]ﬂ“ 1S

-
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Options :

Drawing sketches and diagrams on the blackboard

o i T L -2
1 % Villemlb il Lol 2o
Lecturing in imeresting way
2. i@ L -'?. -G——--u—— .z"-l;"l—':-":_":;-1|I
Ensuring discipline in the class
A

Punishing the students

g
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Question Number : 79 Question Id : 381906985 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Most important skill to be possessed by a teacher 1s
YU SN 5 -V 0

Options :

Covering the prescribed course

1 ® Lr.-r"l.a' ;_F I-.-'lr-'ill'.n:.*%II

Ensuring that the students are relaxed while teaching
) - -~ o ! .

2. % u'f*-'cf@'l-'i‘;'*r'wu"s!-"c-au%;»‘l-'b.».fu“--'-“—fl-u"
Making students understand whatever 1s explained
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Being regular
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Question Number : 80 Question Id : 381906986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is not required for an effective communication
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Options :

Appropriate gestures
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Speech modulation
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Charming personality
el

3.V e

Good knowledge of the content
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General English

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Id : 381906987 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

38190633
3

Online
Mandatory
16

16

20

Yes

0

1
38190639
No

null



No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (81 to 85)

Read the passage carefully and mark the correct answers for the
questions.

We set out very early in the morning. Father had his camera slung on his
shoulder and carried a walking stick. Mother carried two large flasks full of
coffee. I walked along, a hamper (bag) full of chapathis, dry potato curry
and pickled prawn, swinging now from right arm — and now from my left —
it was quite heavy. My little sister bore up bravely under the weight of a
blanket. Three hours of steady walking through the countryside brought us
to a river. It flowed lazily along and curved away to our left. There was a
tiny 1sland in the middle of which was a stunted tree. The view was
beautiful. Mother said in a firm voice: ‘Let’s spend the day here, under the
mango tree’. For once Father agreed. Ants bit us and we were pestered by
two crows during our meal, but altogether it was a very pleasant day.

Sub questions

Question Number : 81 Question Id : 381906988 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Why did the picnic party have to start very early?
Options :

. « They had to catch a bus.

, » They had to catch a train.

P Walking in the morning is easy



4« Walking early is good for health.

Question Number : 82 Question Id : 381906989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What pestered the picnickers during the meal?

Options :

1 « They had to fight a couple of crows

, % They had too much food to eat

5« They were tired because of walking

4 » They were not used to eating in the open

Question Number : 83 Question Id : 381906990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What did the hamper contain?

Options :

1w Clothes and books

, « Food for the picnickers



5 « Loys for the children

4w Plates, spoons, and cups

Question Number : 84 Question Id : 381906991 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Why do people go on picnics?

Options :

1 » They have a lot of money to spend

, % They don’tlike their homes/towns

5 « lhey want to be away from friends

4 » They want to relax and enjoy

Question Number : 85 Question Id : 381906992 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Where did they spend their time?

Options:

| « Under a mango tree



, % Onanest built by ants

5 » A place that had lot of fish

4 % Inacrowded restaurant

Sub-Section Number : 2
Sub-Section Id : 38190640
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 86 Question Id : 381906993 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Choose the correct prefix for the word “‘management’

Options:

D

Question Number : 87 Question Id : 381906994 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the words has been spelt correctly?

Options :

1« Accomodation

> % Accommodation

3 % Acommodation

4. % Accommadation

Question Number : 88 Question Id : 381906995 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with a suitable article

As train moved from the station, we saw huge banyan tree.
Options :
1. % d, d

> % a,the

3 « the, a

4 % the, the



Question Number : 89 Question Id : 381906996 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with a suitable article:
When I go to the school, first person I see 1s peon.

Options :

1.« the, the

> % a,an

3. % a,a

4 % an, an

Question Number : 90 Question Id : 381906997 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Complete the sentence by choosing the correct preposition
[ was walking on the road. Suddenly a car ran a school boy.

Options :

1 % On

> % upon

5 = along



4. ey over

Question Number : 91 Question Id : 381906998 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct synonym for the word underlined

At the end of the class, the teacher questioned the students.

Options:

1« tested

, = revised

5 % punished

4 « praised

Question Number : 92 Question Id : 381906999 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct antonym for the word underlined
A cow is always known as a docile animal

Options :

1 = gentle



> = domesticated

3  lferocious

4 w friendly

Question Number : 93 Question Id : 3819061000 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with a phrasal verb
My mother has always been cooking delightful snacks

Options :

made up

1. %

5> « Known for

5 « looked upon

4. » made for

Question Number : 94 Question Id : 3819061001 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which is the correct passive form of the sentence given below?
The teacher taught the lesson a week ago.

Options :

1 = A week ago the teacher taught the lesson

,  The lesson was taught by the teacher a week ago

5 » The lesson taught a week ago by the teacher

4 » The teacher a week ago taught the lesson

Question Number : 95 Question Id : 3819061002 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identity the correct present perfect form of the sentence given below
This work was completed last month

Options:

- This work was completed a month ago

, » This work has been completed

5 « Lhis work has completed a month ago

4 « T'his work has been completed a month ago



Question Number : 96 Question Id : 3819061003 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Join the give sentences using a proper conjunction

1. The tailor stitched the shirts very quickly.
1. The tailor did not stitch the shirts nicely.
Options:

1.« however

> % and

3 = but

4 = therefore

Question Number : 97 Question Id : 3819061004 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Add a question tag to the given statement

The police investigated the case and found the culprit.
They are very efficient ?

Options:

1 % 1sn'tit?

, » haven’t they?



5 aren’t they?

4w can’t they?

Question Number : 98 Question Id : 3819061005 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Fill in the blank to complete the sentence properly

This girl in the class 1s bright and has written several poems.
She 1s recognised as a good

Options:

1 = author

2. v PO

3 % Writer

girl

4, =

Question Number : 99 Question Id : 3819061006 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sentences is correct?

Options :



1 = All the students in my class liking me very much

, « All the students in my class very much liking me

5 All the students in my class like me very much

4« All the students in my class like me much very

Question Number : 100 Question Id : 3819061007 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Here are four sentences from a paragraph. Choose the correct order in

which they should appear to make the paragraph meaningful.

a. The teacher gave a prize to Suleman

b. Suleman scored the highest marks in maths

. Suleman practices sums every day

d. Suleman is a good student.

Options :
1 € b,a,d
> % a,b,c,d

3. % b,c,a,d

4 % a,d,c,b



General Knowledge and Educational Issues

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 101 Question Id : 3819061008 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

38190634
4

Online
Mandatory
30

30

30

Yes

0

1
38190641
Yes

null

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Royal seal of Gupta’s bore the emblem of

o

¢
Options :

Hasthi (Elephant)

1. % {'-.ffirjn.?:

Mayura (peacock)
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Garuda (Eagle)

L
=

Question Number : 102 Question Id : 3819061009 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The temples of Konark were built by Narasimha of the
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Options :

Maratha dynasty

1% =AW g

Chola Dynasty

2 % —d7 Uy
Ganga dynasty
3.¢ e

Vijayanagara Empire
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Question Number : 103 Question Id : 3819061010 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following most notable remains of Gupta empire in the
Western Indian city of Ajantha are?
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Options :

Cave Paintings
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Buddhist monastery
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Stone carving
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Large temples
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Question Number : 104 Question Id : 3819061011 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In which language the Buddhist literary works mostly written

el i It oa

Options :



Sanskrit
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Brahmi
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Question Number : 105 Question Id : 3819061012 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following places are connected by “Banihal Pass™

B2 aBT 21570 1S 4TS [T 1§ 5 OO

Options :

Manali and Leh

]
DpTIS 1o

1. %
Jammu and Kashmir
2. ‘*-.-/ -":'.r ,-!|U'J_‘"?-

[Ladakh and Tibet



Leh and Siachin
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Question Number : 106 Question Id : 3819061013 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following metal is found in Hutti, Kolar and Ramagiri in India?
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?.:. \_:@L;g.:;l;b:,_: CLIOR UZL DALy SV LR 00 Y
Options :

Gold

Aluminium

Ao at |

Copper

® [
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Silver
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Question Number : 107 Question Id : 3819061014 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Who 1s the author of the “Chip War: The light for the World’s most critical
Technology™?
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Options :

YuvalnathHarar
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Malcolm Gladwell
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Chris Miller
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Walter Isaacson
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Question Number : 108 Question Id : 3819061015 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which country will host 19™ Summit of Non-Aligned movement in 2024?
e/ .,,,L :-"..U-Lq_, .,,,.f.::rv,,, el '-_,L f}u,l_f, 4 J 2024

Options:

India

1. i@ l,.:.-ll:’:-'":':

2. ¥



Uganda
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Azerbaijaan

3. % b

South Africa

Question Number : 109 Question Id : 3819061016 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following States of India has the highest potential for Biogas?

Options :

Uttar Pradesh
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1.¢ i

Odisha

2. %

Madhya Pradesh
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3. %

Chattisgarh
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Question Number : 110 Question Id : 3819061017 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which Airport 1s the Venue of “Wings India 20247, India’s largest Civil
aviation event?
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Options :

Rajiv Gandhi International Airport, Hyderabad

[ B uf s

1. % :l_, I-.-_.ln‘v.:"{,;,'_.,-_‘_:"__:I.Wr ,’::I'J -
Begumpet Airport, Hyderabad

3 . .‘Ir T'J_.-:"-}{-"_.-;.;:.I-..!i I..;.:.-;: =":
Sri Satyasai Airport, Andhra pradesh

3. % Jm3g) PRl s £10L- 2
Mamnoor Airport, Warangal

#
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Question Number : 111 Question Id : 3819061018 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In which state ** Ranathambhor National Park * 1s located?
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Options :

Rajasthan
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1.¢ el

Gujarat
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Assam
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Question Number : 112 Question Id : 3819061019 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

State Bank of India (SBI) has on boarded which Indian personality as its
Brand Ambassador?
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Options :

Amitab Bacchan
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M.S. Dhoni



Marykom
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P.V. Sindhu
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Question Number : 113 Question Id : 3819061020 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following describes “Sky Dew™, that was in news recently?
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Options :

A cruise missile system
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A high altitude observation balloon
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A fighter aircraft
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A fuel efficient drone
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Question Number : 114 Question Id : 3819061021 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What 1s the name of a guideline issued by University Grants Commission

(UGC) in India to instill human values and professional ethics in higher

educational institutions?
L_,"J"'f.._-';u ¥ ;:‘_f.;.["ir':'fﬂ/b!h{-:-:l: ! j j |."au.__rn.--a/b UGC ._; L/ l\.: 'J‘Lr'
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Options:
UTSAH
1. % o]
NEP SAARTHI
&1
2. A 1= "'l" "';."..

MULYA PRAVAH 2.0

3 2.0!'!,;,.:'.9"‘
DIKSHA
4% (L%

Question Number : 115 Question Id : 3819061022 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which space Organization hasannounced its plan to launch its first X-ray polar

i .-'

meter Satellite X—Polsdi 7
P L_r' -J'{X PD]‘\( )*_-:‘11':' _-’-'.’:.r_.;IJ’—-,'Alﬁ_Ega:_-!,rlf"L}!,Buf

L\. |,_..||*‘ ard

Options :



ISRO
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NASA
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Question Number : 116 Question Id : 3819061023 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What i1s Alzheimer’s disease?

PRIV Vb

Options :

A Progressive brain condition affecting memory and cognitive skills
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A disease primarily affecting kidneys
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A contagious viral infection
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A type of cancer
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Question Number : 117 Question Id : 3819061024 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following plays an important role in production of alcohol in Beer?
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Options :

Bactena
i

Protozoan

»
l'|l__.l-l.‘_-‘
ALXAL

Question Number : 118 Question Id : 3819061025 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Which institution launched the “Har Payment Digital Mission™?
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Options :

NITI Aayog
1 % iy

NPCI
L x ClQ

RBI
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Finance Ministry
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Question Number : 119 Question Id : 3819061026 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s a country’s disparity between the exports and imports of goods and

services called?
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Options :

Budget deficit



Current Account deficit
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Gross Domestic Product
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Gross National Product
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Question Number : 120 Question Id : 3819061027 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Liquified Petroleum Gas (LPG) 1s mostly a mixture of which of the following two

carbon compounds”?
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Options :
Methance and Ethane
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Ethane and Propane
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Propane and Butane
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Methane and Propane
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NEP 2020, has replaced the current 10+243 system by a new curricular
structure that 1s...

e it SIIE L 23 I1042+3 ZNEP 2020
Options :

1 % 3+4+445
> d+3+3+4
3. % 4434345

4 % d+44+343
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Government of India's flagship programme for achievement of
Universalization of Elementary Education (UEE) in a time bound manner
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Options:
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The Act serves as a building block to ensure that every child has his or her
right to get a quality elementary education 1s
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1. %

Article 21-A

o x A1
Child labour act
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RTE act 2009
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The Skill India mission was launched in which year?

5 P - A /
Qo = P& i > i o N | hai -~ |
- el T U R S e

Options :

1 % 2011
2 ¢ 2015
3. % 2014

4 = 2016
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Programme that 1s launched by Prime minister to provide multimodal
connectivity infrastructure to various economic zones.
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PM Gati Shakti National Master Plan (NMP)
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Skill India Mission
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How many categories of disabilities are included in RPWD act 2016 ?
e s E L e £ LARPWD 2016

Options :

2« 21

5 % 07

4 % 19
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Expand SWAYAM
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Options :

1« Study Webs of Active learning for Young Aspiring Minds

, % Study Websites of Art learning for Young Aspiring Minds

5« Story Webs of Adult learning for Young Aspiring Minds

4 = Study Web of Active learning for Youth Aspiring Minds
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Which of the following is a print media?
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Options:

News papers

1@ e LA

Social media
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YouTube
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Television
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Vedas are compiled by
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Options:

Rishi Gautam
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Rishi Kanad
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Rishi Bharadwaj
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Rishi Ved Vyasa
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Govt. of India initiative to provide psychosocial support to students, family
members and teachers for their mental health and well-being during the

times of Covid-19.
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What 1s the primary function of a real-time operating system (RTOS)?
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Options :

Managing resources and scheduling tasks in real-time
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Providing networking capabilities for distributed systems
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Supporting multiple users and applications simultaneously
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Managing hardware components and device drivers
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Which type of operating system 1s designed to manage resources and

provide services to clients over a network?
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Options :

Real-time operating system
1. % .’:_"ﬁf-':’# "'{" '-..el'“ 4

Network operating system

.":_._Hﬁ .a'ITn_--.’:' 2

2.¢ R -

Multi-user operating system
3. % .’:J.-J# 11y '..f‘

Embedded operating system
4. % e i red
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Correct Marks : 1 Wrong Marks : 0
Which of the following 1s an example of a procedural programming
language?

fegulUbd oS 'J-'x*ﬁ!x;u';f:’u;
Options :
Java
1. % |!|.:,v
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Which programming paradigm emphasizes the use of objects and classes to
represent real-world entities and their interactions?
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Options :

Procedural programming



Functional programming
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Object-oriented programming
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Logic programming
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Which memory type retains its data even when the power is turned oft?
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Options:

Volatile memory

2. ¢ S J ast



Virtual memory
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Which type of memory allows both read and write operations?
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Options :
1. v RAM
2. ROM

Cache memory
st

i Pl
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Virtual memory
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Which of the following is a type of database management system DBMSJ
designed for handling structured data dlld suppornnﬂr SQL queries?
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Options :

Relational database
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NoSQL database

5 % JHUsNoSQL

Graph database
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Document database
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Which type of database 1s optimized for storing and querying unstructured or
semi-structured data, and typically uses flexible schemas?
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Options :

Relational database
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NoSQL database
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Graph database
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Document database
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Which tab in the Ribbon interface of Microsoft Word contains options for
formatting text and paragraphs?
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Options :

1 « Home
> w Insert

_— Page Layout

4 » References
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How do you save a document to a different drive in Microsoft Word?
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Options :

Click on the "Save" button and select the drive from the dropdown menu
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Use the keyboard shortcut Ctrl + S and select the drive from the Save
dialog
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Click on the "File" tab. then select "Save As" and choose the drive from
the Save dialog
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Right-click on the document and select "Save to another drive"
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Which option 1s used to delete data from ce]]s. rows, or columns in Excel?
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Options :

Cut
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Which function 1n Excel calculates the standard deviation of a population
based on a sample of numbers?
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Options:

. v STDEV
, « STDEVP

.« VAR

4 « VARP



Question Number : 143 Question Id : 3819061050 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which feature in PowerPoint 1s used to apply a consistent look and feel to all
slides 1n a presentation?
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Options :

Slide Layouts
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Shde Transitions
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SmartArt
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Which option in PowerPoint allows you to rehearse timings for a slide show
presentation?

Options :



Record Slide Show
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Slide Show Setup
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Shide Show Presenter View
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In most email clients, what does the "Inbox" folder typically contain?
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Sent emails
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Junk emails
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Which feature allows you to mark emails as important or prioritize them in
your inbox?
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Sorting
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Filtering
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Which of the following 1s NOT a common type of computer virus?
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Options :

Trojan horse

S s/

Worm
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Firewall
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Ransomware
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What 1s the primary function of antivirus software?
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Options :

Protecting computer hardware from physical damage
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Preventing unauthorized access to computer networks
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Detecting and removing computer viruses and other malware
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Optimizing computer performance
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Which industry commonly uses Al-powered chatbots for customer service?
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Options :

Retail
v

Agriculture
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Construction

i

3. % o



Energy
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What 1s a typical application of cor11pute1 vision ILCI]IIL‘&]L‘!”‘» ?
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Options :

Fraud detection in financial tl‘ans;actions

Stock market prediction
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Facial recognition
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